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6. Figure P6 shows two paths that may be taken
by a gas from an initial point 7 to a final point £ Path 1 V P6

)

Path 1 consists of an 1so%k % fothermal

is <,Q_Jl\111_lgg1££\tde) an adiabatic expansién Lo

(work is 40 J m maz.mmdc) an isothermal Path 2 _~Adiabatic
compression (work is 30 J in magnitude). and Yos A

then an adiabatic compression (work is 25 J in c,II >
magnitude). What is the change in the internal

. intermal O [y -U.
energy of the gas if the gas goes from point  to point falong path 2? :F \
Qv W 14U — L)
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' energy of the gas if the gas goes from point i to point falong path 2? &U f A /

7. 4.4 kg of CO; gas is expanded quasi- statlcally in a piston cylinder device at constant pressure of 1.0 MPa
until its volume increases from 0.4 m* to 0.8 m®. Then the plston is pmnec&f‘xed) and the gas is cooled unt||
its pressure drops to half of the initial value. Finally
polytropic process back to the initial state. Find the (i) expgr@mytrope and (||) the work done
by the gas durmg the cycle Also, identify the process(es) during which heat rejection will take place, and
calculate the heat rejection(s). Assume C,/C, = 1.26 for CO,. -
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